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1070829 LA P T Hash PO0L TAE T s P002
£l SO, | NOx | CO | HCL |OPAC|MASS| SO, | NOx | CO | HCL |OPAC| MASS
5 B
“F |l FEa -5 Bk un [ oFg | FFE]| -5 0 % &
ppm ppm ppm ppm % |Nm3/hr| ppm ppm ppm ppm % Nma3/hr
00:00 1=t =% =i =% B (=i 9.74 69.79 5.78 1.71 1.63 | 65239.25
01:00 =ik etk s et = et 9.12 66.56 7.14 0.82 1.62 |65631.27
02:00 (= R B2 R 1= R 8.94 68.26 5.50 0.97 1.63 | 67392.00
03:00 ik fetd e fEtd = fEtd 9.08 65.09 6.99 1.00 1.63 |66020.18
04:00 (=R R G2 R 1=t R 9.27 69.16 6.79 0.84 1.63 | 64784.33
05:00 ik fEtd e fEfd = fEtd 9.08 66.11 8.28 0.51 1.63 |65171.86
06:00 =% R G2 R B R 9.41 66.16 9.35 0.48 1.62 | 65927.34
07:00 ik fEtd e fEtd = fEtd 9.49 62.32 10.10 0.48 1.63 | 65834.42
08:00 B2 R B2 R B2 R B 1% B R B R
09:00 =i =% =% =% =% =% (=& i (=& i 1= =1
10:00 G2 R B2 R B2 R BRi: R B R B R
11:00 =i =% =% i =% i (=& i (=& i 1= 1=
12:00 B2 R G2 R B R B =% B R B R
13:00 =i =% =% =% =% =% (=& =% (=& e 1= 1=
14:00 =% i R 1% R =% {2 =% {2 =% {2 =%
15:00 1= =4 1S = 1= f=H% | 10.17 57.76 19.26 3.24 1.63 | 68567.29
16:00 fe i et fef feifk fef = | 10.09 56.11 23.16 2.47 1.63 |66387.88
17:00 1= =4 1S = 1= = 9.02 53.85 32.34 3.32 1.63 | 69389.08
18:00 fe i et (e feif fef e | 11.30 57.53 11.25 5.82 1.63 |67403.71
19:00 1= =4 1= = 1= f=#% | 13.10 55.41 13.12 10.25 1.62 |68519.56
20:00 fe i et fef feif fef = | 10.61 62.77 9.11 2.84 1.63 |68202.31
21:00 1= =4 1S = 1= f=H% | 14.33 61.68 32.49 8.91 1.63 | 67120.49
22:00 fe i et (e =2 (= H = | 13.60 56.35 29.26 5.54 1.63 |68870.93
23:00 1= =4 1= = 1= f=H% | 15.70 57.56 9.72 14.22 1.63 | 66065.33




